FEKE ERDIKR [2017FE]

STEEEL B, 20184E3 A 1 H BITE,
STHAT R D T 1T, 3R E TORBUS A AR RN e 2T,

AR RIS 245 IR AR 2R DD SR HERR SFERDDAFEIRHERR
oW R TEFEER| EREE (%) MR TEFEER| EREE (%) MR EREEY| EREE (%) | MR
HNT A JE | Ermmm 4 HNT AR JE | w4 HNT A JE | =R A
Bt 7R 158 153 96.8 5 181 180 99.4 * 1 200 162 | 81.0 35 3
HREAT L LFFR 78 77 98.7 * 1 78 69 88.5 8 1 92 83 90.2 9
EHR LR 82 771 93.9 5 79 77| 97.5 * 2 114 78| 68.4 32 4
R LR 60 60 | 100.0 64 63 98.4 * 1 76 64 84.2 8 4
TR LR 114 113 ] 99.1 1 134 130 97.0 * 4 126 106 | 84.1 18 2
JE AT 93 88 94.6 5 85 84 98.8 * 1 100 87 87.0 9 4
TR 129 1271 98.4 2 152 142 93.4 1 146 121 82.9 21 4
oy N TR 83 82 98.8 1 84 78 92.9 1 87 81 93.1 6
i 797 7T 97.5 15 5 857 823 96.0 22 12 941 782 83.1 138 21
B E R 1 11 100.0 1 11 100.0 131 107 81.7 21
7R SR - - - - - 3 3| 100.0 139 116 | 83.5 18
B TR e - - - - - - - - - - 71 59 83.1 12
RERG R 327 309 94.5 15 332 3271 98.5 * - - - - -
i 328 310 94.5 15 336 331 98.5 * 341 282 82.7 51 8
[EBRBIfR - - - - - 5 3| 60.0 * 84 67 79.8 15 2
ERE bR - - - - - - - - - - 55 51 92.7 2 2
EFRBIRE | PERE T ER R R - - - - - 1 * 1 16 11] 68.8 4 1
[EI B 145 135 93.1 6 4 134 134 | 100.0 * - - - - -
&t 145 135 93.1 6 4 140 1371 97.9 * 155 129 | 83.2 21 5
HAFE AL R 82 81 98.8 * 1 86 79 91.9 5 82 72 87.8 10
P S (a2 75 75 | 100.0 * 73 65| 89.0 3 54 46 | 8b5.2 6 2
e A= —ial R 76 76 [ 100.0 * 71 63 88.7 8 68 64 94.1 3 1
DR 94 941 100.0 * 119 109 91.6 9 1 91 841 92.3 6 1
JEE S b R 100 99 99.0 * 1 121 113 93.4 7 1 107 91 85.0 12 4
&t 427 425 99.5 * 2 470 429 | 91.3 32 9 402 357 88.8 37 8




VEER DD 245 IR HERR QAR IR NG SAE YR AE SIS AE YR AE
s R I T T O N L s S P SR M LS PR O I bk
HNT AR JE | w4 HNT A JE | Ermmm A HNT A JE | =R A e
R AR 131 131] 100.0| = 13| 111] 982 = o 115 104 904 5 6
s | POERRER 132 132 100.0] = 13| 112 99.1] = 116 | 108 93.1 8
BREERER (x1)| 145 | 142| 97.9| = 3 139 139 1000 142 | 138 97.2 3 1
2t 408 | 405| 99.3| = 3| 365] 362 992 = 3| 373 350 938| 16 7
I i B R 65| 62| 95.4| = s 72| 71| 9se| 1 es| 60| 90.9 5 1
(AT A 11| 10| 99.1] = 1 too| 99| 99.0| = [ 15| 108 93.9 1 6
BRSEHEE R 44| 44| 1000 = 47| 47| 1000 = 57| 54| 94.7 1 2
O A [ 39 38| 974 = 1 38| 37| 974 = 1 ar| 36| s7.8 3 9
ik T 2R 39| 391000 = 43| 43] 1000 = 43| 41| 95.3 2
AR R ga| 83| 988 = 1 90| 89| 989 = 1 87| 74| s5.1 11 2
= 382 | 376 98.4| =« 6 390] 38| 99.0] = 4l 409 | 373 912 23| 13
R B R 76| 76| 100.0| = 78| 78| 100.0 95| 90| 94.7 3 2
BRHEFH  [BAEEER (x1) g2  s2| 1000 = g9 87| 97.8 2 93| 92| 98.9 1
2t 158 | 158 100.0| 167| 165| 988 2 188| 182 96.8 4 2
& 2,645 | 2,586 | 97.8| 36| 23| 2,725 2,633 96.6| 56| 36| 2,809 2,455 | 87.4| 290| 64
$1 0 ISR A SRR L BB B SN T EN2EH LD, ZONREMRLL ., L, PSS eI 201 TR R R,
VB 2 e U A YD SEEUER, BEE Y DAL UER,
TR | ERER %) | B N man| semencon B N man] emencon R
BANT A 8 | e i A BN AN JE [ FEF R BN AN JE [ fEf R
— [eaoserrny 64| 62| 96.9| = ol 59| 59 100.0] = 67| 64| 955 9 1
AR, ek 81| 80| 988| = 1 so[ so[100.0] = 75| 74| 987 1
2t 145 | 142 979 = 3 139 139 1000 = 142 | 138 97.2 3 1
L 64 | 64 100.0 | = g9 87| 97.8 2 93| 92| 98.9 1
L s gaEmRrek | 18] 18] 1000] % - - - 1T -1 -1 1"
. H 7+
= s2|  s2| 1000 = g9 87| 97.8 2 93| 92| 98.9 1




	進級の状況

